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1. In Fig. 1, calculate the values of powers, Py, P2, P3, and P4, and give a comment on each
power, delivering or absorbing. (10%) '
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Fig. 1.

2. In Fag. 2, find the value of 1. (10%)
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Fig. 2.

3. In Fig. 3, (a) .ﬁnd the voltage ¥, which is contributed from the 20V voltage source; (b) find
the voltage ¥, which is contributed from the 5A current source. (10%)
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4. In Fig. 4, use the mesh-current method to find the value of ¥,. (10%)
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Fig. 4.

5. InFig. 5, find the efficiency under the maximum power transfer. It is noted that the efficiency
is defined as £, + I, x100%, where P; is the input power coming from the 360V voltage source
and P, is the output power coming from the R; load. (10%)
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Fig. 5.

6. In Fig. 6, use the source transformation to find the value of the voltage V. (10%)
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Fig. 6.

7. T Fig. 7, If [2] =B i} then find the value of . (10%)
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Fig. 7.
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8. In Fig. 8,if V,(¢) =5sin(27 +30°) +5cos(t +10°) V, then find ¥, (¢) in the steady state.
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9. (a) In Fig. 9(a), at t = 07, find the voltage across the 6H inductor, namely, 7(07).
(b) In Fig. 9(b), find I(7) for £ =0, where Vo= 4V, C) = 4F and Cz = 4F. (10%)
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Fig. 9.

10. In Fig. 10, find the current 7 out of the ideal operational amplifier. (10%)
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